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24P/372

Answer the following as directed : -

Jor the questions

1x8=8

Gobi Desert is located in Eastern Asia /

Western Asia / Southern Asia / Northern
Asia.

( Choose the correct answer )

The highest point in Africa is
( Fill in the blank )

Which State of India has the highest
Percentage of black soil?

(TumOver)



Raman ' i Be 0w

(d) Ebony trees are found in forests,
( Fill in the blank )

(e) Lake Baikal is the world’s deepest lake.
( Write True or False )

(/)  Which country of the world has the
highest population density?

(g9 Which country has largest coal reserves
in the world?

(h) Name the longest river of North
America.

Write short notes on the following (any four :
5x4=20
(@) Savannah Grassland

(b) Mediterranean climate

(c) High population density areas of the
world -

(d) Fishing industries of Japan

(e) Islands of Pacific Ocean

Divide Africa into major physiographic
divisions and describe each briefly. 6+6=12

Or
Explain the impact of climate on the natural

. vegetation and their distribution in Asia. 5+7=12 .
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4. Discuss the major industries of South Asia
and explain the distribution of iron and steel
industries in the region. S5+7=12

Or

Petroleum is the mainstay of the economy of
the Middle East. Discuss. 1

5. Give an account of world population
distribution and explain the factors that
affect uneven distribution of world

population. 7+7=14
Or

Describe the population distribution in
South-East Asia and discuss its relation

with physiographic divisions of the region.
7+7=14

6. Discuss about the soil types and their

distribution in Europe. 14
Or

Write an account of the physiographic

characteristics of Mediterranean region and

its relation with agricultural pattern. 14
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